
((x + 3) - v) + 5 = (a+3) + (5- )

Ny :

(a+ B) -v) + 1 = ((a+ 3) + 1 -3)) + 5
.-

*

Tag,wer
= (a+ ) + (1-5) +5)

1 = (a+ B) = (a+ ) + (5 + (-r)
A = (-u)
0 = J = (a + ) + (5 -1)
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(a+ B) + (v+51) - (B + a) = (w + 5)

Aw : (10+ p) + (v+51) - (B+a)

= ((a+3) + (r + 51) + ) - (p+a))
Arzinazerkt
-

y = ((a+3)+(w+5))

n= 1-(+a)( - (B+a)) + ((a+3) + (0 +r))I

=

- (B +a) + ((a +3) + (r +5)
Arzakzaseich
B = B g
I =a

= - (a +) + ((a+B) + (v+5))
-
- ( - 10 +) + (a +)) + (0 + 0)Hyawsergswe
,1= - 10 +R)

1 = (a+B)

0=(of
= 0 +(u+ r)
- (x +5)
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(020 - B . a) - (3a + 2 + 1 - 5-2) =0
non-

10. - B - a) · (30 + 2 +8 - 5-2)

= (00p - a- ) · (30 + 2p +5-5 -2)

= 0 . (30 + 2 +1- 5- 2)I
&

= 0

Arzizzadazi
B = B ,

B =0
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-(a+ 3)) -2) - 15+2) = (10 - 2) · (a+B) - (v +o

ii
. (a - late(l-r) · (d)= 10+0) · / vo(a . (r+p))) · (+6)
-= (u+5) : (W- a) · (a+3)) · (8+ d)AvzizaszIk

B = (a . (a +3))
= ( +5) . ((v - a) . (a+3)) : (r +0)↓A = j = ((a) - (a+3)) · (u+5) · (u+8)

B = JMorscoyrifluoroty)) - SoeA = 0

0 = (a + B)

Avzikzir0zik
O 192082zIkn
1 = (u+ 6)

B = U
A = y A = ((w - a) - (atp))
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⑨a - B = - B + a

Aft]n : a - B = a + 1 - P)

Avecqszaix - +B) + a

1 = a
,
A = (-3) = - B+ a
-

⑳ .
. a . B . a . B . a . B = a

4
.
*

faie :

0 . B . a . B . a .. a . B = 01 . B · a . B · a .a .B . B
-Avzifscazisk- - 01 ·· 01 . 01 . 0 : B -BoB

B = B ,A
= a- = 0 : 81 . 0 . 0 . B . B . B . B

Avzifuzzazsk↓ I 04 . B4B = B ,
A = d - d

Avzuszaszikt ↓
B = B

,
A= a . a .d a . a .0 . 0= 1 .1 - 1 -1a+

1+! 1a* a
B. BoBoB = .......

= B4
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③(1 - a) . (-3)(01-r) = (- a) - (B- )
err :

(1 - a) - 1-3)) ·( -v) = 1 - a) - /1- B) - (-u)
/=(- a) - (B - U)

Te** t
,=ful
1- B) · (- )= ( 14)-(-1)

- B
, -5

dar sivon
· pocal povrupa=(-1) : (-1) B . J
Mayoyzz1ky = 1 By = Boy
↑27aB12
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